SFSEE IAMETFTEOHE

M F % 295,200F M
IE% THE 21,613,985F M

TSR OHMETHR MR

EstAviiii=e = SOl

THEFAE - THEFRAICPDLEFERHLN

#1515 I H IR

ek = il R/ Ni

P1

P2

P3

P4

P6

P5

pP7



TISHEE IAMIETHE SFHIEG R

(HAL TH)
DRy HE 5 (A) f1E (B) A3 (A)+(B)

— i E 21,318,785 295,200 21,613,985
Sl 10,859,479 359,893 11,219,372
] P B PR R 4,070,895 124,336 4,195,231
I ELRRR 4,361,571 191,165 4,552,736
% = R 549,387 2,071 551,458
VPR E 129,483 A 51 129,432
KiBEFEESH 1,748,143 42,372 1,790,515
A 32,178,264 655,093 32,833,357
5 (AL TH)

LS MIERT RS TR HIEA MIER LIRS
PSR AR 2,518,203 A 232,389 2,285,814




73 i iE e ES D
No. = ¥ 4 T 5 EEE A

O 20 b s e 4,00
| |BRATTICEA T 9.400 o Lt w4,
% ’ H

51,500

(
itk =13 2 =7 1Ak
fletEF 2 (EN)

8,465 )

3,914

[ )22 & F U7 3 ek cEs 2 A Bh 4 5,000
KB4 4,825% T84 >

Bl

5 | R

26,788 )
2,200

Ul B PR S S PR B4 3,914
KW H4A 3,000% 7Y >
12,379

i

=
— S

B30 A il it N7 2 2

5,218 )
2,000
7,218

[ 1A RAE B R i | AR DR R B BT 2,200
28,988

~E
¥
S

3 )=
o/

\/“;t-%l

[ 68 VR 7 MRS 9 B AR RE A BB R AR AT BN 4 2,000
§Eim$1m%ﬁ%>
(
5 E%&E%Kﬁ@%

ﬁ‘:

S H 5 BIAE BE R AR A5 4 (KB - WAl i i < I o0) % 78 24 T 18
15,163 )
=SSN
A AT DR B3

9119 (] FEERERBIR AT MESTFEL LT 2,112
’ K EHBEZH4 2112274 >
17,275

=6
o

2,686 )
IR &

m R
3,350 |[#r]+&b-FH CR=—
6,036

g |
7 |EsmEs nss

APREEBERE 3,350
i)

532 )
15,418
15,950

114,862 )

29,206 B G L [ R A 4
144,068

FHTXE

CarlAidi4 <3< —Ro Afict HEEMBI4 15,000 T EHCKE:
SCHI T B AR B RE A A 4 (BREL - Wil =l et I 47) 2 2 24 T 7E H
(
g Pllan oA LAY
JF R

aul

( 0)
o |t R
it

952 |7 IhtE s B i F 2 Bh 4 (R KM XK IERLS) 952
952
( 0)
10 SR (R 18.000 [T VAR OK PE 2E it 5 2518 0 S 26 B miBh 4 18,000
) ’ KB4 9,000 754 >
18,000
25,896 )
72,577
98,473

T
i

il
i

[

11 |RE

Pl
P
g%

[ ] RoE R s g s A 4 72,577
KHIGE 7,000% 7Y >

28,575 )
12

1,119 (1A S ERCE D I3 R s 2l 4 1,119
29,694

( 133,416 )
1o |ERSEEG I (o
+3)

B

O

e

MOEE i T
30,000

163,416

=
=
;%

U ) ioE A B IE R AR O . T 5% 30,000
<HFE 27,000% 784 >

( 9,287 )
14 [ e 39,190

U 1 rh gt 7 — L & T3 38,940
< Hi 5 1E
48,477

& 29,2007 F 4 >

24,007 )
15 |AR 15,425
39,432

( 182,725)
i % S =

X/ =2
DB G

BT NS AR W ks fif - R F Bk
% 15,425

SRR R i B AT T

#t

>

[ )5 Fos4E7 H RS IR DAL+ RKiEER 58 1
4,700 (4,700
\
187,425

K [HEZH 4 18,0094 F Y HiHE A13,400>

e o
TEAMD LB () ITMERTOZA, F B IM EEH, T B

RIXET

au
i

aup
i



T F5EE B
(B TM)
No EET B R G
U |47 B T e 4200 OB EOEE |y ABRIE
o |3 B o (A ) 30,000 A % @ |MOEPAMEERGG AR TE
S /IR 1 i e -
3 | epsae 20,750 B B B W |RE L R N R
B 2 4 T o
4 |H A R PR 38,940 E R B G W v s 7 — Vg 1.5
s A e = VISR KA FEF ok - R H
R PANET PG =t 15,4250 #h & BCH R g st wE Tk
O o BFSHETH RN FEITRD AL
6 |t tAzE s EE IR 4,700 & B F Atk S EE A T
THFEAICDNAETE GREF - I =5E) 7 BA
(R )
No % T ] G
| | BB AR 2000 A BCHR B R g e i e
( & M B )
, [ Ga ool o ow  ow  |[HOTTORBEEICH S
) o et
— JI {88 ==z 7 = ANAN
3 |ms RN 2,000 g H B G W g O TRRERIBIES LR




< ENIEEBRINR>

(B FH)
No. =S RefED BHY LY TERE | BOAMLESE | SOMERSE |MERTER
1 |BRRs B BON SR & B e B B SR A 81,303 A\ 15,976 65,327
Bl 81,303 0| A 15,976 65,327
2 BENREXEES 53,200 53,200
3 BRI ATIR R B 47,500 47,500
4 s AR RGH R EE 22,200 22,200
IR & HHFFIEEE
5 MBI THRIRHREE 600 600
6 MiE EHEAISRHREE 1,900 1,900
7 by RIBRBIEEE 136,200 136,200
Fil 261,600 0 0 261,600
8 |2 - RKEEE BT VA EREM R T LRIBEHEE 28,800 28,800
Bl 28,800 0 0 28,800
9 RRBERKERLENREE 19,500 19,500
REBERKEHLENERE
10 ALEE 7,500 7,500
Bl 27,000 0 0 27,000
11 SEBREBE LD Y HEEE 9,200 9,200
12 mEEERRNREE 55,000 55,000
AT R EZEE
13 BRI R B 31,000 31,000
14 8 RN P SR SR B 20,000 20,000
5 115,200 0 0 115,200
15 BENRELEES 23,400 23,400
16 REBEBHEBAEE 39,900 39,900
17 HEEE M AEE 15,900 15,900
18 L AIsFEER LN REE 57,200 57,200
19 WERHI EF (R ESE 2,000 2,000
20 Ao St 22,200 7,000 29,200
21 HEREREREREEE 30,500 30,500
22 MEFENMISIRURESE 50,700 50,700
23| — s/ EME RN R EE 9,000 9,000
| RIRERE HETRETERRAEE 45,000 45,000
25 MBEROREREFHRAREE 45,000 45,000
26 s/ N EERRRREE 46,200 46,200
27 MERAHERIRMEEE 5,000 5,000
28 B TRE FTmARIREE 13,600 13,600
29 MEE FTHRRREE 36,600 36,600
30 mECERNREE 20,000 20,000
31 HEEOT O PR R EE 1,300 1,300
32 BRI R RO R R 13,600 13,600
&t 475,800 0 8,300 484,100




< ENIEEBRINR>

(B FF)

No. EEDE LU TER | BUAMIESR | SRWESE |(MERTESR

33 mER N HEFERERAREEE 7,400 27,000 34,400

34 TERHERE / RN RESE 22,500 22,500

35 QPR E S o S 7,500 7,500

36 mELEARRLRAREE 6,900 6,900

&t 44,300 0 27,000 71,300

37 MmERSEN S TIRAREMIEEE 27,000 27,000
IEEEHER

38 H5 XN REERREISE 51,300 51,300

&t 78,300 0 0 78,300

39 mEERREENERIEEE 12,400 12,400

E1l 12,400 0 0 12,400

40 e PRE/NFREREE 31,700 10,300 42,000

41 RERRER PFRFER 7 — L BIEEZE 1,000 29,200 30,200

E1l 32,700 10,300 29,200 72,200

42 | — BN M ER B E R ME |\ LB REEE 161,700 161,700

i 161,700 0 0 161,700

43 EIHERE|AHEIATERKEEIREE 39,300 126,300 A 13,400 152,200

g 39,300 126,300 A 13,400 152,200

AL | RMOKEE B K EE MERR K EEIREE 0 1,300 1,300

i 0 1,300 0 1,300

ast 1,358,403 137,900 35,124 1,531,427




e H 2 ] T R IR B

(BRI FM)
K I8 H EE S FIERIDEE FIEE FIER D
B 1 |\ HWBEER 1 | —REER — BB 134,024 883 134,907
wEERE (hXEHER
= 26,862 283 27,145
5 MEEESR SR SEEEEY 34,648 57 34,705
6 |(EE T RIE R E SRR 10,000 60 10,060
WAERTE - MEHIEEHES
4 261 48 309
Mg N IBEE 54,660 3,831 58,491
A I E ATz W 42,100 9,400 51,500
7 |BYERER TREB BRI ERE 160,009 420 160,429
9 | bR RSN RIS R L 26,788 2,200 28,988
iﬁ’irz;;:Tﬁﬁﬁﬁg 8,465 3,914 12,379
10 & BAREBRESE 28,939 250 28,689
Eh= 443 67 510
BB e s S 5,218 2,000 7,218
3 | FHEERELRE |1 FHEERESRSE |FHEERELAEBKREE X T
. . JRym— 15,163 2,112 17,275
R4&& 1 |[#t=@utE 1 | EutEBE lii;{i\%;;bxﬁé%ﬁﬁ% 196,950 3,400 200,350
2 | mImERILE (S@HEszronEEE 4,217 143 4,360
3 [EOWERUE (B EREEE 130,281 360 130,641
° ii;m%@% Z?;ig;z%““%%#@— 10,219 A113 10,106
6 NERRZZE (NERBREE 660,838 A\3,051 657,787
7 ERFeSEE ERFSEBE 1,366 2 1,368
2 | RERUE 1 | RERUREE | REEunBe 2,686 3,350 6,036
TEART T AW ARBIE 532 15,418 15,950
£x (RERWD ’ ’
3 |EERER 1 | EERERBE | £ EREEE AU IEEE 17,656 2,500 20,156
EEREE IR 9,086 6,709 15,795
BEE 1 |[(REBEE 1 |[REBEERTE | P AR HESE 1,204 4 1,208
PPN 29,110 323 29,433
2 |\ BFREE BT REHESE 37,458 1,037 38,495
3 |BHREBILE | LR o< B 750 103 853
4 | FRHE HEIAAFIANLRTIF >
J— 114,862 29,206 144,068
FREEEEE 106,373 1,540 107,913
b | REGERBE |KERE RitbiEtEss 952 952
REETEIKEE 65,619 52 65,671




e H 2 ] T R IR B

(Bf1: FMH)
= 15 B = fIERIDEE f1E%EE FHIE® D%R
EtokEEE (1 |2xs 3 |EREIREE KEMNISEE (BKR) 18,000 18,000
FEYTIEEE 54,464 1,161 55,625
5 |BME B AR 25,896 72,577 98,473
2 | MEE 1 |[MREIREE BEIRERANEEE 28,575 1,119 29,694
+ A% 1 |tAEEE 1 |+ RRBE AR 17,500 1,390 18,890
2 | ERIERE 2 WRE | EREHEEE (BENRSE
ERHER A = s (RERAR 302,250 1,300 303,550
%)
EREHEEE (BhEXE) 133,416 30,000 163,416
5 & 1 |[EEEEE — B EEWMEEBR B 3,080 4,800 7,880
HBE 1 DEBE 2 FERMENE |ERmE B TS 97,850 297 98,147
3 | KEXNKE KENEKE 15,627 1,000 16,627
HBEE 1 | BEBBEE 2 |EBRE 27— LN RBITEE 54,210 19 54,229
3 | HEEEE FHROOF AN ARENE
=R o 23.087 88 23.175
EB¥E (FR#EE)
2 |/hNERE 1 | ZREBE NSRS TR 20,439 2,750 23,189
3 |RERE 1 | PRRBE AR B R 9,287 39,190 48,477
4 \HiEEE 1 PHERBEE |[YRHBExEEE 17,183 24 17,207
6 HEHEE 1 (MY ERBTE (L ErDIiEmEY 522 300 822
2 | NREEE NREEEEEY 24.007 15.425 39,432
4 AR EE  |qripmEe 3,496 10 3,506
7 REFEE 1 | REBEBHRBE S K— Y iREESE 13,600 200 13,800
2 |[ABHERE AR=Vt v X2 —HREESE
Rt = 37.425 561 37.986
E
11 | KEEIHE 1 |BMOKEZERR |1 BERmRLE
=E g TR =k = 1,608,558 2,000 1,610,558
SEEIRE ERE = ot
2 | NFEEAREEEK |1 | AFELTKRERK
AN+ AR S EFIRE 182,725 4,700 187,425
=R =R e
12 |[RMEE 1 | REE 1 |t TE 2,420,367 11,329 2,431,696
fHIEREET 295,200




